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1. This is a conversion graph between temperatures in Fahrenheit (°F) and Celsius (°C)
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Write down 43 °F as a temperature in Celsius  ........ °C
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2. This graph can be used to change between Australian dollars (AUD) and pounds (GBP).
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How many Australian dollars are equivalent to £43 7 ........ AUD
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3. This graph shows the height of an oak tree as it grows.
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Write down:

(i) the height of the oak tree when it’s 32 years old  ........ metres

(ii) the age of the oak tree when it’s 18 metres high ........ years
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4. Use this graph to convert 196 cm into feet (’) and inches ()
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Answers

1.6+ 05
2. 87 + 1
3. (i) 11.5 & 0.5, (ii) 47 + 1

4. 6 feet 5 inches £ 0.5 inches
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